Study Questions for Biophysics: A Physiological Approach
Chapter 6

1. Since a hysteresis loop area will be proportional to the heat lost, is a larger loop less efficient?

2. Citrate has been used to prevent blood from clotting and been cited as a possible cause of weakening dentin.  What common mechanism could these two processes have?

3. Why does the hysteresis curve of a contracted blood vessel have a larger area than a relaxed blood vessel?

4. How could you use capillary electrophoresis to measure the dissociation constant of cholesterol/ethanol.  

5. Why would lifting heavy weights be dangerous for people with aneurysms?

6. How does stretching decrease the risk of tendon rupture?

7. Under what conditions would high level athletes be more likely to break bones or rupture connective tissue during competition?

8. Non-enzymatic cross-links form between collagen filaments in tendons.  How will these cross-links affect the visco-elastic properties of the tendon, and how will they affect the contractile behavior of the muscles in series with these tendons as the number of cross-links increases?



































































